






Section II 

Question 11 (15 marks) Start a new answer booklet 

a) Solve the equation 2 cosx = ✓2 for 0° � x � 360 °

b) Consider the function y = ✓9-x2 .

i) Sketch the graph of the function.

ii) State the range of the function.

c) Solve the inequality I Sx - 2 j � 4.

d) Differentiate with respect to x

e) 

f) 

i) y = 
? 

2x- +1 

ii) y =x(2x+ 1[

Find the point of intersection of the lines 4x- 3y- 3 = 0 and 
x- 3y+ 15 = 0

Find the coordinates of the focus of the parabola with equation 
? 

x- = 4(y-l)
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Question 12 (15 marks) Start a new answer booklet 

a) 

b) 

c) 

d) 

e) 

Solve the equation x(x-5)= -6. 

Find the radius of the circle with equation x2 + y2 - 4y-12 = 0. 

Find the gradient of the tangent to curve y = .J x2 + 4 at the
point ( 0, 2 ). 

Consider the points A (- 9, - 2), B (- 2, 3), and C (3, - 4). 

Show that the triangle with vertices A, B and C is right angled 
with hypotenuse AC. 

Consider the function J(x) = px2 
- 2x. 

Given that /(1)= /(-2), find the value of p. 

f) PQ R is an acute angled triangle such that PR = 8 cm and
PQ = 12cm . The area of the triangle is 36 cm 2.

i) Find the size of angle QPR correct to the nearest degree.

Marks 

2 

1 

2 

3 

2 

2 

ii) Find the perimeter of the triangle correct to 2 decimal 3 
places.
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Question 13 (15 marks) Start a new answer booklet 

a) Find a quadratic equation with roots ✓2 and -✓2 .

b) On a number plane, sketch the lines and shade the region
that is defined by y � 2x2 and y < 2x.

c) Solve 2 log7 4 = log7 2x - log7 3.

d) 

e) 

f) 

The tangent to the parabola y = .!_x2 4x_ at a point P has a
4 

gradient of - 6 . 
Find the coordinates of the point P. 

Find the equation of the normal to the curve y = 3
Fx at 

1+ 2 X 

the point where x = l. 

cosec2x -1 ? Show that ----=cosec-x 
cos2 x 
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Question 14 (15 marks) Start a new answer booklet 

a) Find the values of the constant m such that y = nix is

tangent to the parabola with equation y =4 x.2 + 1.

b) In the triangle ABC, the perpendicular from A meets BC at
D. AB= 3x) AC= 4x, DC= 3x+ 1, and BD = 2x-1.

c) 

d) 

e) 

i) 

A 

3x 4x 

B .___ __ __._ ______ C 
2x- 1 D 3x + 1 

Using Pythagoras's theorem in triangle ADC show that 

AD
2 

= 7x
2 

- 6x -1

ii) 

iii) 

Find another expression for AD 2 in terms of x.

Hence, find the height AD. 

Sketch the curve y = 2 cos 2x for O :S x :S 360
° 

. 

Show that the quadratic equation x
2 

- m x -1 = 0 has two real 

unequal roots for all values of m. 

Find the values of the constant c for which 

C X
2 3 

lim ') - -- is correct.
x➔ +w 2 X- + l C + 5 

End of paper 
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